Practice questions — Year 5 and 6 — Long division 4 digit by 2 digit

. 2,345 =+ 47 (long division)
. 1,983 + 38 (long division)
. 2,412 + 53 (long division)
. 2,098 + 62 (long division)
1,764 + 29 (long division)
. 2,137 + 45 (long division)

. 1,426 + 37 (long division)
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. 1,895 + 56 (long division)
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Practice question answers — Year 5 and 6 — Long division 4 digit by 2 digit
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. 2,345 + 47 = 49 remainder 42 (long division)
. 1,983 + 38 =52 remainder 7 (long division)

. 2,412 + 53 =45 remainder 27 (long division)

2,098 + 62 = 33 remainder 52 (long division)
1,764 + 29 = 60 remainder 24 (long division)
2,137 + 45 = 47 remainder 22 (long division)

1,426 + 37 = 38 remainder 20 (long division)

. 1,895 + 56 = 33 remainder 47 (long division)
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